### Atlantic Recycling Equipment, LLC

13 Jesse Doe Road Rollinsford, NH 03869-0609 Phone: 603-749-2414 Fax: 603-7492421 www.atlanticrecyclingequipment.com

Date: Jun 17, 2024
Re: Two (2) - Model 345IP Compactors w/
Side feed chutes.
File Number: 1725
Property: Casco Naples Facility
Address: 449 Leach Hill Rd, Casco, ME,
04015

As requested, we are pleased to offer our Equipment proposal for the above referenced project as follows:

## WQ345IP Compactor - Model 345IP, 3yd. Stationary compactor.

Wastequip Model 345IPD, 3yd. Stationary Compactor with the following standard Features: Trivolt/TEFC Motor, UL/CUL Listed, Wastec Rated, Multicycle Timer, User Friendly Controls in Panel Face, 100% Light, ANSI Z.245.2 Compliant, Guardian Control System, NEMA 4 Rated Control Panel, Heavy Duty Ratchet Binders, Override-Pack-out Hydraulic Pressure Boost, (AMS) Automatic Maintenance Scheduler, Low Temp Hydraulic oil, 15 to 165 Degree Operating range, Key Start, 30mm Controls, Push Button Start, Six (6') foot remote Power Unit with Weather Cover. Factory Warranty: Three (3) Years Structural, One (1) Year Parts & Labor. Painted Brown.

\$42,500.00

Material Description	Qty	Unit Price	Subtotal
Wastequip Model 345IPD, 3yd. Stationary Compactor with the following standard Features: Tri-volt/TEFC Motor, UL/CUL Listed, Wastec Rated, Multicycler Timer, User Friendly Controls in Panel Face, 100% Light, ANSI Z.245.2 Compliant, Guardian Control System, NEMA 4 Rated Control Panel, Heavy Duty Ratchet Binders, Override-Packout Hydraulic Pressure Boost, (AMS)	2	\$21,250.00	\$42,500.00
Automatic Maintenance Scheduler, Low Temp Hydraulic oil, 15 to 165 Degree Operating range, Key Start, 30mm Controls, Push Button Start, Six (6') foot remote Power Unit with Weather Cover. Factory Warranty: Three (3) Years Structural, One (1) Year Parts & Labor. Painted any Standard Color.			

## **Remote 10HP, Tri-volt 208/230/480, Three (3) phase power** \$1,500.00 **unit.**

Remote, Transducer Style, 10HP, Tri-volt 208/230/480, Three (3) phase power unit, includes the weather cover and Six (6') foot hydraulic hoses. The power unit will be wired for 230 volt, Three (3) phase power, Transducer Style power unit to run off the existing VFD unit on site. Atlantic will be responsible to remount the Vascon VFD units to the new 345IP Compactors and wire to the power unit that will be mounted on the rear of the Compactor and plumbed through Bulkhead fittings to the cylinder.

Material Description	Qty	Unit Price	Subtotal
Miscellaneous	2	\$750.00	\$1,500.00
WQCO403 - Oil Heater installed in Hydraulic tank.	\$0.	00	

Oil Heater Thermostatically Controlled, 10 to 60 gallon R Material Description	eservoir Qty	Factory Installed. <b>Unit Price</b>	Subtotal
Oil Heater Thermostatically Controlled, 10 to 60 gallon Reservoir Factory Installed.	2	\$0.00	\$0.00
WQC0122 - Controls on Fifteen (15') Foot remote.	\$0.	00	
Controls on Fifteen (15') remote pendent in lieu of mount	ting in pan	el face Factory I	nstalled
Material Description	Qty	Unit Price	Subtotal
Controls on Fifteen (15') remote pendent in lieu of mounting in panel face Factory Installed	2	\$0.00	\$0.00
WQCO103 - Five (5') feet Additional length on controls wiring per compactor.			
Additional Length for Standard Fifteen (15') Cord - Per F	oot.		
Material Description	Qty	Unit Price	Subtotal
Additional Length for Standard Fifteen (15') Cord - Per Foot.	10	\$18.50	\$185.00
WQCO201 - Five (5') Foot container guide.	\$0.	00	
Five (5') foot container guide.			
Material Description	Qty	Unit Price	Subtotal
5 Foot Standard Guide Rail	2	\$0.00	\$0.00
WQCO166 - Pressure Gauge on Twenty (20') foot remote \$830.00			
Pressure Gauge - Color Coded & Numeric on Twenty (20') foot hose mounted.			
Material Description	Qty	Unit Price	Subtotal
Pressure Gauge - Color Coded & Numeric on Fifteen (15 foot hose mounted.	') 2	\$415.00	\$830.00
Side Feed Chute System w/ Double access doors & lowe	er <sub>eo</sub>		

## Side Feed Chute System w/ Double access doors & lower \$9,000.00 access door in dog house.

Side Feed, Right & Left feed chute systems fabricated for each compactor. The Top access location for the residents will include Two (2) Steel Access doors installed and lockable. Atlantic will also install a 30" x 30" Side access door in the lower dog house section of the chute for ground feed and Service access to the compactor charge chamber and ram. The Two (2) Top doors will not require any Magnetic Interlock Switches installed, it will meet the "Rule of 84". The lower 30" x 30" will require a Magnetic Interlock Switch installed to meet ANSI & OSHA Safety Regulations. The chute system will meet all ANSI & OSHA Safety Regulations and will be painted to match the compactors. Atlantic will supply a Proposed Top & Front view drawing of the compactors for Town approval.

Material Description	Qty	Unit Price	Subtotal
Fabrication	2	\$4,500.00	\$9,000.00

# Freight Charges for both compactors with chute system to be \$1,500.00 delivered to the Transfer Station for installation.

Freight charges for both compactors and chutes to be delivered to the Transfer Station for Installation.

Material Description	Qty	Unit Price	Subtotal
Freight charges to customer location. Tracking #	1	\$1,500.00	\$1,500.00
Installation of each compactor & chute system.	\$6,	200.00	

Installation of each compactor into location, install the chute system onto the compactor and wire the power unit to the Customer supplied 100 amp Electrical disconnect. Atlantic will mount the existing VFD units to each compactor and wire them into the control panel on each power unit, verify that the VFD is programmed properly and run each compactor for proper operation. Atlantic will mount the controls & Pressure Gauge into location specified by the Town while we

are site doing the installation. Atlantic will Demo the operation of both compactors to the Town operators before we leave the facility.

Material Description	Qty	Unit Price	Subtotal	
Installation	2	\$3,100.00	\$6,200.00	
Overnight charges for the Two (2) man crew.	Overnight charges for the Two (2) man crew. \$900.00			
Two (2) Overnight charges required for the Two (2) Ma both compactors at the Town Transfer Station.Esti	an crew to c	omplete the insta	allation of	
Material Description	Qty	Unit Price	Subtotal	
Overnight Charges	2	\$450.00	\$900.00	
Current Factory lead time is 8 to 10 weeks.	\$0	.00		
Current Factory Lead time for the compactors is 8 to 10 weeks after receipt of this quote signed for approval and emailed or faxed back to our office.				
Material Description	Qty	Unit Price	Subtotal	
Miscellaneous	1	\$0.00	\$0.00	
Trade-in on the Two (2) - Marathon 2yd. Ultra Series - \$1,500.00 Compactors.				
Trade-in on the Two (2) - Marathon 2yd. Ultra Series Compactors, "AS-IS" less the VFD units that are mounted to the compactor. The VFD units will be used on the New Model 345IP compactors.				
Material Description	Qty	Unit Price	Subtotal	
Used Equipment Trade-in	2	- \$750.00	- \$1,500.00	
QUALIFICATIONS				
1. Our offer is firm for 30 thirty days from the date listed	d above.			

- Our offer is predicated upon a clear and accessible area that will be made available by others, where our work is to be performed.
- 3. Unless noted in the specific inclusions, our work will be performed during our normal working hours and work week.
- 4. Quote must be signed for approval and emailed (admin@arenh.com) or faxed (603-749-2421) to our Office.

Section Subtotal	\$61,115.00
Subtotal	\$61,115.00
Taxable Subtotal	\$0.00
Tax Amount	\$0.00
Total	\$61,115.00

Total Proposal as Outlined Above...... \$61,115.00

#### Payment Terms: 30 DAYS

Any alterations or deviations from the above specifications involving extra costs will be executed only upon written orders, and will become an extra charge to this quotation. All agreements are contingent upon strikes, accidents, or delays beyond our control. Owner to carry all necessary insurance coverage. Our employees are fully covered by workers compensation insurance.

### PRICES ARE SUBJECT TO CHANGE WITHOUT NOTICE.

### Acceptance:

The above quoted pricing, specifications and conditions are satisfactory and are hereby accepted. You are authorized to perform the job.